


AYICIK BOBIi BROS TARIFi

Kafasi jk

1. Sihirli halka igine 6x
2. 6v =(12)

3. (x,v)*6 = (18)

4. (2x,v)*6 = (24)

5. (3x,v)*6 = (30)

6-12. 30x

13. (3x,a)*6 = (24)

14. (2x,a)*6 = (18)

' 15. (x,v)*6 = (12)

Gévdesi 4#-

| 1. Sihirli halka igine 6x
) 2.6v =(12)

o 3. (3x,v)*3 = (15)

4-5. 15x

6. 9x,3a = (12)

7-8. 12x

Kollari % %

%, 1. Sihirli halka icine 6x
2-3. 6X

4. 4x,a = (5)

5-6. 5%

o Bacaklar E\E

1. Sihirli halka igine 6x
2. (%,v)*3 = (9)

i

- ' 3. 9x
_ 4. 3x,3a = (6)
daylay | %% o

Kulaklar ’.g- 7'%:

sihirli halkanin icine 6x
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